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Part A

Section Id : 686340129
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340199
Question Shuffling Allowed : No
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Question Id : 6863406471 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863406472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gilg Bl oa ¥ fha U § -

1.9
2. 0D
3. dH
4. "N

Options :

68634025601. 1

68634025602. 2

68634025603. 3
68634025604. 4

Question Number : 2 Question Id : 6863406473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

37 &1 ygigarE: 9ad -

4. 3R

Options :
68634025605. 1



68634025606. 2
68634025607. 3
68634025608. 4

Question Number : 3 Question Id : 6863406474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s efte Bt R e g o
1. 9t

e

2.9
KA
4.9

Options :

68634025609. 1
68634025610. 2
68634025611. 3
68634025612. 4

Question Number : 4 Question Id : 6863406475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S1E & TR 7 P g R 2 2

1. Gl B

EEat:]

AR DY
4. U DY

Options :

68634025613. 1

68634025614. 2

68634025615. 3
68634025616. 4
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Question Number : 5 Question Id : 6863406476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025617. 1
68634025618. 2
68634025619. 3
68634025620. 4

Question Id : 6863406471 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions
Question Number : 1 Question Id : 6863406472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634025601. 1
68634025602. 2
68634025603. 3
68634025604. 4

Question Number : 2 Question Id : 6863406473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3{i@ &1 ugigarH! §ar -
1. ¢l

2,34

3. P
4. 3TMER

Options :

68634025605. 1
68634025606. 2
68634025607. 3
68634025608. 4

Question Number : 3 Question Id : 6863406474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s efte Bt R e g 0
1. AT

e

2. T
3. glgl
4. 9g-

Options :

68634025609. 1
68634025610. 2
68634025611. 3
68634025612. 4

Question Number : 4 Question Id : 6863406475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634025613. 1
68634025614. 2

68634025615. 3
68634025616. 4
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Question Number : 5 Question Id : 6863406476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T A fbdeh us g o 2
1.BHg P
2. a1eH &
3. It & Gl &
4. BRIHT D

Options :

68634025617. 1
68634025618. 2
68634025619. 3
68634025620. 4

Sub-Section Number : 2
Sub-Section Id : 686340200
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863406477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. T3
2. fauiyu
3. fopann
4. g4

Options :

68634025621. 1

68634025622. 2

68634025623. 3
68634025624. 4

Question Number : 6 Question Id : 6863406477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Tl aEd o Ol W © -
1. 53
RCEE)
3. febanr
4. FaAH
Options :
68634025621. 1
68634025622. 2

68634025623. 3
68634025624. 4
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Question Number : 7 Question Id : 6863406478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dIUTs B P guR 3R I1Y TR0 Y fa- O gl 8 2

1. 16.11

|
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4. 16.16

Options :



68634025625. 1
68634025626. 2
68634025627. 3
68634025628. 4

Question Number : 7 Question Id : 6863406478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
41978 B4 & X 3R I WU H fHa A AT € 2

1.16.11

|
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4. 16.16

Options :

68634025625. 1
68634025626. 2
68634025627. 3
68634025628. 4

Question Number : 8 Question Id : 6863406479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Fdd A, C.D
2. BAA A, B, C
3. %dd A, D.E

4. HAAB.C.D

Options :

68634025629. 1
68634025630. 2
68634025631. 3
68634025632. 4



Question Number : 8 Question Id : 6863406479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025629. 1
68634025630. 2
68634025631. 3
68634025632. 4

Question Number : 9 Question Id : 6863406480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025633. 1
68634025634. 2
68634025635. 3
68634025636. 4

Question Number : 9 Question Id : 6863406480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'O " T8 b T 3ehTeie Trsa BTI:
A. Tzt

B. TR

C. HEd[E

D. Tl

E. SIS

{4 f3u T fasedl § 9 &l Iuged SR &1 999 DifoIu:

1. HAA A, C.D

2. %dd B, C.E

3. HdAC.D.E

4. AT A, C.E

Options :

68634025633. 1
68634025634.2
68634025635. 3
68634025636. 4

Question Number : 10 Question Id : 6863406481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. A-IV, B-I1L. C-II. D-I
3. A-1, B-II. C-III. D-IV
4. A-IV, B-I1, C-III, D-I

Options :

68634025637. 1
68634025638. 2
68634025639. 3
68634025640. 4

Question Number : 10 Question Id : 6863406481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-1. C-II. D-IV
2. A-IV, B-III. C-I1. D-1
3. A-I. B-II. C-III. D-IV
4, A-IV, B-II. C-III. D-I

Options :

68634025637. 1

68634025638. 2

68634025639. 3
68634025640. 4



Question Number : 11 Question Id : 6863406482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfd ab = 3:5 % Gl (-a2+b?):(a2+b?) % :

12

L]

-2

1:4
3. 8:17
4. 4:9
Options :
68634025641. 1
68634025642. 2

68634025643. 3
68634025644. 4

Question Number : 11 Question Id : 6863406482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ab=3:5g. (-a2+b?):(a2+b?) g
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Options :

68634025641. 1
68634025642. 2
68634025643. 3
68634025644. 4

Question Number : 12 Question Id : 6863406483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634025645. 1
68634025646. 2

68634025647. 3
68634025648. 4

Question Number : 12 Question Id : 6863406483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025645. 1
68634025646. 2
68634025647. 3
68634025648. 4

Question Number : 13 Question Id : 6863406484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025649. 1
68634025650. 2
68634025651. 3
68634025652. 4

Question Number : 13 Question Id : 6863406484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025649. 1
68634025650. 2
68634025651. 3
68634025652. 4

Question Number : 14 Question Id : 6863406485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U faorell &1 U9 2700 H 997 IR PR DI 30% I 55 | SH 40% WY TH & AT et & U™ fdvem
H g9 =1ieu o

1.2 1280
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Options :

68634025653. 1
68634025654. 2
68634025655. 3
68634025656. 4

Question Number : 14 Question Id : 6863406485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025653. 1
68634025654. 2
68634025655. 3
68634025656. 4

Question Number : 15 Question Id : 6863406486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 24

Options :

68634025657. 1
68634025658. 2
68634025659. 3
68634025660. 4

Question Number : 15 Question Id : 6863406486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 14
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Options :

68634025657. 1
68634025658. 2
68634025659. 3
68634025660. 4

Question Number : 16 Question Id : 6863406487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.49

[
n
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4. 69

Options :

68634025661. 1
68634025662. 2
68634025663. 3
68634025664. 4

Question Number : 16 Question Id : 6863406487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tfd AMAN S[EI © 79 &. d§ HAPPY="

1.49

[
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4. 69

Options :

68634025661. 1
68634025662. 2
68634025663. 3
68634025664. 4

Question Number : 17 Question Id : 6863406488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T Tt SIS I E |
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1. Pad 1 TE FaT g

2. Had LI 3R 111 9T il o

3.%ad I 9T Bl %

4. Pad 11 3R 111 Uie- Sl §

Options :

68634025665. 1
68634025666. 2
68634025667. 3
68634025668. 4

Question Number : 17 Question Id : 6863406488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e fau T ST SR el & SR W 149 U=Hl & ST i

FYT- g HATT I |

P A, Ayl § |
frepd. 1 wf sege asfeai ¥
II. $B ASIdl AP o
IIL. $B TSl SE S |

1. %add 1 Ulaq &di g
2. %ad LI 3R 111 99 $al &
3. %dd I 9Ta- hedl &

4. %ad 11 3R I11 916 H3al &

Options :
68634025665. 1



68634025666. 2
68634025667. 3
68634025668. 4

Question Number : 18 Question Id : 6863406489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el faded &1 904 Biforg S Ue &1 qof Srar g1 0.1.1.2.3.5.8.13.2

1:22

|

.21
3.20
4.19

Options :

68634025669. 1
68634025670. 2
68634025671. 3
68634025672 4

Question Number : 18 Question Id : 6863406489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl [ ed &1 99 Bifolt il Ue &l qul SRl 61 0.1.1.2.3.5.8.13.2

122

|
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Options :

68634025669. 1
68634025670. 2
68634025671. 3
68634025672. 4

Question Number : 19 Question Id : 6863406490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025673. 1
68634025674. 2
68634025675. 3
68634025676. 4

Question Number : 19 Question Id : 6863406490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025673. 1
68634025674. 2
68634025675. 3
68634025676. 4

Question Number : 20 Question Id : 6863406491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025677. 1
68634025678. 2
68634025679. 3
68634025680. 4

Question Number : 20 Question Id : 6863406491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ikl & TIY BT T g2

1. 37t

e

A

4. deg-

[

LFN]

Options :

68634025677. 1
68634025678. 2
68634025679. 3
68634025680. 4

Question Number : 21 Question Id : 6863406492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feeel & B @ H IR HFR » @1 faf ST oo T o |
HTTIE A e

BERIE R RGURER

a—y

| )

L

4. Apdl

Options :

68634025681. 1
68634025682. 2
68634025683. 3
68634025684. 4

Question Number : 21 Question Id : 6863406492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeel & i @ 5 IR HHR » @1 fmfo =R forar T o |

oy o

1. AT el

-

C

BRI TR UGS

| )

[#5]

4. Apal

Options :

68634025681. 1
68634025682. 2
68634025683. 3
68634025684. 4

Question Number : 22 Question Id : 6863406493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I LISTII
. B2 I |1948
CEIRIEE] 1. [1904

ayfaeTag e | 1L [1937
[amemmeamm |1 fiss2

= fau U f[d@regl § O 98l 3T &1 904 Difer -

1. A-IIL B-II. C-IV. D-I

glo|w|=

2. A-TV, B-I1, C-II1. D-I
3. A-IIL B-IV. C-I, D-II
4. A-IV, B-IIL. C-II, D-I

Options :

68634025685. 1
68634025686. 2
68634025687. 3
68634025688. 4

Question Number : 22 Question Id : 6863406493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
_ [BST @ I |1948
EEIRIEE 1I. |1904

afaeragafagg | ur [1937
[amemmeamm |1 fiss2

- fau 7T fomedl © 9§ T8l 3R &1 999 Dol

1. A-IIL B-II. C-IV. D-I

=l fol ==} J2

2. A-IV, B-II. C-III. D-I
3. A-IIL B-IV. C-I, D-II
4. A-IV. B-IIL. C-II. D-I

Options :

68634025685. 1
68634025686. 2
68634025687. 3
68634025688. 4



Question Number : 23 Question Id : 6863406494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST BIUDRE :
90 Py

faga oy
REPREaR

HARd Y

—
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L]

=S

Options :

68634025689. 1
68634025690. 2
68634025691. 3
68634025692. 4

Question Number : 23 Question Id : 6863406494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_‘Z-gffm FITPRE :
o

foxga oy
REPREaL

 RHidRd Y

oy

| )

[#5]

=

Options :

68634025689. 1
68634025690. 2
68634025691. 3
68634025692. 4

Question Number : 24 Question Id : 6863406495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. 91 BT G 719 H 3P BId 8. Siafd I8 o4 gardi # A erdi 8
B. %914 T i a1 oot ¥ @l 1 7fd suafda et &
C. @ 1 7Ifd ATTH & HeT g1 &b Y Fedl &
D. Y& 91 B qa1 8§ 3% ag & &= S Tl A el §
fe fau e fdmedl & 9 96l SR &1 9u- Sifed |
1. P AR B
2. %adB IR C
3. %A AB SR C
4.%dd A 3R D

Options :

68634025693. 1
68634025694. 2
68634025695. 3
68634025696. 4

Question Number : 24 Question Id : 6863406495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. a3 31 71(d 719 H 349 gIdl 8. Siafd g8 olv g d gAdreidi g
B. %819 H gf& a1 S U & Pt 1 sraRafid Wt ©
C. i 1 7Ifd AT & e g1 &b Y Fedll ©
D. Y& 91 B qa1 8§ 3% ag & &= S Tl A el §
e fau T fawedi & 9 Hel SR &1 99 Difed
1. P AR B
2. PaAB AR C
3. %A AB SR C
4.%ad A 3R D

Options :

68634025693. 1
68634025694. 2
68634025695. 3
68634025696. 4



Question Number : 25 Question Id : 6863406496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR & e UG ifiaer = wfaf§d It sarse 2023 ST g |
1. Rt oe
2. U, UH. BRI
3. WidH Fhadl

4. U A IeHIH

Options :

68634025697. 1
68634025698. 2
68634025699. 3
68634025700. 4

Question Number : 25 Question Id : 6863406496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd & fby Ui iiider = ufafgd 3l sargy 2023 Sidre |

1. Xt ot
2. U, UH. BRIG
3. Wiad Iepadl
4. 4. 3R, T6HH

Options :

68634025697. 1

68634025698. 2

68634025699. 3
68634025700. 4

Part B: Zoology

Section Id : 686340130
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 686340201
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863406497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following enzymes introduce negative supercoiling in prokaryotic DNA?

1. Topoisomerase [

| B

. Topoisomerase II

LF¥]

. Topoisomerase III
4. Topoisomerase IV

Options :

68634025701. 1
68634025702. 2
68634025703. 3
68634025704. 4

Question Number : 26 Question Id : 6863406497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAfEd o 9 &9 91 ToIigH NG RAiics S T U H BUNEd fagpsdl & Hdy Hdl o7
1. SIS EES I

SIS AN 1T

 CIOITEHAS 11

SIS EEY IV

Options :

68634025701. 1
68634025702. 2
68634025703. 3
68634025704. 4

| )

L

=

Question Number : 27 Question Id : 6863406498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To detect infection of SARS-CoV2 in humans. RT-PCR technique 1s used to quantify:

1. Surface protemns of SARS-CoV2

| B

. RNA of SARS-CoV2
3. Non-structural proteins of SARS-CoV2
4. Host DNA

Options :

68634025705. 1
68634025706. 2
68634025707. 3
68634025708. 4

Question Number : 27 Question Id : 6863406498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OFE T SARS-CoV2 & HHHU &l UgdH & [T RT-PCR dd-id &1 I9gi Hgfaiad § 9 fvasd
yAEIER & foa fovar Srar 82

1. SARS-CoV2 &1 Hdg R IURYd HidH & o

SARS-CoV2 @ RNA @ felu

[ ]

3. SARS-CoV2 &I 3RRTATHSE HIdH & fag
4. oG- DNA @ forg

Options :

68634025705. 1
68634025706. 2
68634025707. 3
68634025708. 4

Question Number : 28 Question Id : 6863406499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which cell organelle is involved in the synthesis of glycosphingolipids and glycoproteins inside the cell?

1. Peroxisomes

| )

. Glyoxysomes

. Inner mitochondrial membrane

LIPS ]

e

. Golgi complex

Options :



68634025709. 1
68634025710. 2
68634025711. 3
68634025712. 4

Question Number : 28 Question Id : 6863406499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad o 9 o 91 Sk S 4 age Ebiatiey iR @ge e & geaye § i g2
1. RISl
Rl CaR
 ADIUIDT B 3fdiReD fZreed]

Tiesl! HilY (1)

| )

[#5]

e

Options :

68634025709. 1
68634025710. 2
68634025711. 3
68634025712. 4

Question Number : 29 Question Id : 6863406500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Actinomyein D mbhibats:

1. Transcriptional elongation in Eukaryotes

b2

. Translational elongation in prokaryotes
3. Transcriptional initiation in prokaryotes
4, Translational initiation in eukaryotes

Options :

68634025713. 1
68634025714. 2
68634025715. 3
68634025716. 4

Question Number : 29 Question Id : 6863406500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UfdeamERE b Fafaied d @ foge ARy s e:
I Sl T e ardieRul
T S=fpl § RIFFR e
3. 3T Hsfedl § 3IegT o gHRY
4, T H=ip gl T RIFEFRU B JaRY
Options :
68634025713. 1
68634025714. 2

68634025715. 3
68634025716. 4

fa—y

| )

Question Number : 30 Question Id : 6863406501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following event occurs during the Diplonema/Diplotene stage of meiosis?

1. Reduction in the number of chiasmata

. Separation of the paired chromosomes except at the chiasmata

| )

3. Crossing-over and recombination between homologous chromatids

4. Pairing of homologous chromosomes and synaptonemal complex formation
Options :
68634025717. 1
68634025718. 2

68634025719. 3
68634025720. 4

Question Number : 30 Question Id : 6863406501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad & 9 oH @ v silgieRu & fg-ga/fg-ug sawnd gidl &
1. BIUHCT 1 e | DT
2. BIHET DI BIS B G U ST 9D il
3. FHOd SURE S [afHg 3R gaieH
A, IS O] 1 G ST SR AIg-gHEd Iy &l g+

Options :



68634025717. 1
68634025718. 2
68634025719. 3
68634025720. 4

Question Number : 31 Question Id : 6863406502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The anti-parallel nature of double standard DNA is due to:

1. Phosphodiester bonds

[ )

. Hydrogen bonds

Lad

. Disulphide bonds
4. Glycosidic bond

Options :

68634025721. 1
68634025722. 2
68634025723. 3
68634025724. 4

Question Number : 31 Question Id : 6863406502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fggrsc SITAU 31 URHMIOR Yaurl &1 HR 6:

1. PRDISIEER g

NEEIEREL

IER R AEEEL]
4. TASDITSD &Y

Options :

68634025721. 1

68634025722. 2

68634025723. 3
68634025724. 4

| )

(5]

Question Number : 32 Question Id : 6863406503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



All human antibody types possess a proline-rich flexible 'hinge region’' except:

1.IgA

2

gG
3.IgE
4. IgD
Options :
68634025725. 1
68634025726. 2

68634025727. 3
68634025728. 4

Question Number : 32 Question Id : 6863406503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafeiEad ¥ 4 o 9l ulivee O U= 9 JER 1 69 87 181 82

1.IgA

Options :

68634025725. 1
68634025726. 2
68634025727. 3
68634025728. 4

Question Number : 33 Question Id : 6863406504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The drug Aspirin inhibits the synthesis of:

1. Leukotrienes

[

. Prostaglandins

3. Arachidonic acid

4. 17-eicosapentanoic Acid (EPA)
Options :

68634025729. 1
68634025730. 2



68634025731. 3
68634025732. 4

Question Number : 33 Question Id : 6863406504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v g P 3 & g deau o FRiy 6l
1. GPICRH
T
RFSIHS RS

4. 17- SEHNUACARS D URTS (EPA)

| ]

L]

Options :

68634025729. 1
68634025730. 2
68634025731. 3
68634025732. 4

Question Number : 34 Question Id : 6863406505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Neuroglia found in peripheral nervous system (PNS) contains the following cells:

1. Astrocytes

(B

. Schwann cells

3. Oligodendrocytes

e

. Ependymal cells

Options :

68634025733. 1
68634025734. 2
68634025735. 3
68634025736. 4

Question Number : 34 Question Id : 6863406505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafaiad & ¥ F O dEay ik of gkl 9w oF 3 gl 6;
1. Qg ed
2. Y11 HIRBIT
3. AferTe s MR e
5. D0 ST
Options :
68634025733. 1
68634025734. 2

68634025735. 3
68634025736. 4

Question Number : 35 Question Id : 6863406506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hyaluronic acid 1s composed of:

1. D-Galactose and N-acetyl D-glucosamine

(B

. L-Tduronic acid and N-acetyl-D-galactosamine
3. D-Glucuronic acid and N-acetyl-D-galactosamine
4. D-Glucuronic acid and N-acetyl-D-glucosamine
Options :
68634025737. 1
68634025738. 2

68634025739. 3
68634025740. 4

Question Number : 35 Question Id : 6863406506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRS 3 & U
1. SITFE 3R UH- UeIsd -S1 i =
2. T ATFSTIHS S 3R TH-TRierse -t TeiaeiagHH
3. Sl TqRRIF® 3% TH- URreTgd -Sf T g
4. Sl TTRRID ST TH- URIeTed -3t P e

Options :




68634025737. 1
68634025738. 2
68634025739. 3
68634025740. 4

Question Number : 36 Question Id : 6863406507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Separation of two different alleles from each other during gamete formation in a heterozygote follows:

1. Law of unit factors

| )

. Law of segregation
3. Law of dominance
4. Law of independent assortment

Options :

68634025741.
68634025742.
68634025743.
68634025744.

AW N =

Question Number : 36 Question Id : 6863406507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
< iyt uelial &7 QU@ e &-d gU e fawmmrae & o, Fafafaa & 3 g SR arar :
1. (4T hae &7 7y
fagareE fHag
guIigar oy

| )

[#5]

=

. A4 g &1 -1y

Options :

68634025741. 1
68634025742. 2
68634025743. 3
68634025744. 4

Question Number : 37 Question Id : 6863406508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A lizard like reptile which is considered as a "Living fossil" 1s:

1. Komado dragon

2

. Varonus

LFS]

. Sphenodon
4. Gekko

Options :

68634025745. 1
68634025746. 2
68634025747. 3
68634025748. 4

Question Number : 37 Question Id : 6863406508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% fumdl @1 die Ty 8 gofie siare +ft Fet o &

1. PHSI 9TH

GIEE:|

TpHISH
4. 7Dl

Options :

68634025745. 1

68634025746. 2

68634025747. 3
68634025748. 4

| )
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Question Number : 38 Question Id : 6863406509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The world's only floating national park 1s situated in:
1. Mizoram
2. Arunachal Pradesh
3. Manipur

4. Meghalaya

Options :
68634025749. 1



68634025750. 2
68634025751. 3
68634025752. 4

Question Number : 38 Question Id : 6863406509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G- 1 UHHTA Rl g3 AP o Hafarad 4 forg e 1 [yd 82
1. eI

. SRUIEE Wl

 HforgR
4. TETg

Options :

68634025749. 1
68634025750. 2
68634025751. 3
68634025752. 4

[
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Question Number : 39 Question Id : 6863406510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Calculate the value of median from the given data:

2.90,3.57,3.73, 298, 3.64, 3.75

3.30, 3.62. 3.76, 3.38. 3.66, 3.76

L3505

| )

. 3.62
3.3.63

4, 3.65

Options :

68634025753. 1
68634025754. 2
68634025755. 3
68634025756. 4

Question Number : 39 Question Id : 6863406510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau U siipsi I ifeieT &1 A J1d B3
2.90, 3.57.3.73.2.98. 3.64. 3.75
3.30, 3.62. 3.76. 3.38. 3.66. 3.76

1.3.505

| )

362
3.3.63
4, 3.65
Options :
68634025753. 1
68634025754.2

68634025755. 3
68634025756. 4

Question Number : 40 Question Id : 6863406511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the course of evolution. first horses appeared in which period?

1. Eocene

| )

. Oligocene
3. Miocene

4, Pliocene

Options :

68634025757 1
68634025758. 2
68634025759. 3
68634025760. 4

Question Number : 40 Question Id : 6863406511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ug-[dere & on 0 ugd 31y Hefeied § 9 fog o ds 4 uee gw

1.9 iéaaﬂ
2. A
3. g
4, H aﬂﬂq
Options :
68634025757. 1
68634025758. 2

68634025759. 3
68634025760. 4

Question Number : 41 Question Id : 6863406512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Teak is a dominant tree species of which of the following types of forests in India?

1. Tropical moist deciduous forest

| B

. Tropical thorn deciduous forest

LF¥]

. Tropical Rain Forest
4. Temperate forest with grass lands
Options :
68634025761. 1
68634025762. 2

68634025763. 3
68634025764. 4

Question Number : 41 Question Id : 6863406512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FofafEa § A HH I ueR & omal J Ae, geff @1 U wuTdl wiefia §
1. SUrHiea 3T guidrel a1
SUBICEs Hed yuiurd o
- Sufcadt auf a7
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Options :



68634025761. 1
68634025762. 2
68634025763. 3
68634025764. 4

Question Number : 42 Question Id : 6863406513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Food chains are short.
Reason R: There is a loss of 10% of energy at each trophic level
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct

Options :

68634025765. 1
68634025766. 2
68634025767. 3
68634025768. 4

Question Number : 42 Question Id : 6863406513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634025765. 1
68634025766. 2
68634025767. 3
68634025768. 4

Question Number : 43 Question Id : 6863406514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s the correct sequence of events in urine formation?

1. Filteration. secretion and reabsortpion

[ )

. Secretion, reabsorption and filteration

Lad

. Filteration, reabsorption and secretion
4. Reabsorption, filteration and secretion

Options :

68634025769. 1

68634025770. 2

68634025771. 3
68634025772. 4

Question Number : 43 Question Id : 6863406514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T3 & ®I 9131 &1 951 HF Jgai-y
1, fFee=H, Fau, gy
2. TqUT, gAY T ee<eH
3. Th oo g aIyor, gau
4, TAGRIOL [t ee ¥, 9au

Options :

68634025769. 1
68634025770. 2
68634025771. 3
68634025772. 4

Question Number : 44 Question Id : 6863406515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



All of the following are amniotes except:

1. Burds

2

. Mammals

LFS]

. Reptiles
4, Fish
Options :
68634025773. 1
68634025774. 2

68634025775. 3
68634025776. 4

Question Number : 44 Question Id : 6863406515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 0 9 o= 91 3wl (Use) 98 82
1. g&it
ESEEIR
gy

4. H

| )

[#5]

Options :

68634025773 1
68634025774.2
68634025775. 3
68634025776. 4

Question Number : 45 Question Id : 6863406516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first definitive evidence for the chromosomal theory of inheritance was provided by:

1. Gregor John Mendel

[ )

. Sutton and Boveri
3. Thomas Hunt Morgan
4. Hugo De vries

Options :
68634025777. 1



68634025778. 2
68634025779. 3
68634025780. 4

Question Number : 45 Question Id : 6863406516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTaR1ept & 101 FATT g &1 yga (Hifda greg Fafafea & 9 feg faar
1. IR A B8
2. Al 3R @Rl
3. Ul §¢ AR
4. g S -B15W

Options :

68634025777. 1
68634025778.2
68634025779. 3
68634025780. 4

Question Number : 46 Question Id : 6863406517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Carina 1s:

1. A free-swimming, ciliated larva
2. A shield-like plate over dorsal part of body
3. A keeled sternum for insertion of flight muscles
4. A glue-secreting cell

Options :

68634025781. 1

68634025782. 2

68634025783. 3
68634025784. 4

Question Number : 46 Question Id : 6863406517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FeT (Carina) %
TS o axdl gl geaHl arar

a—y

| )

TRR P g¥ Y R UD SHdd DI d¥6 @
IS B Ukl & FdwH & e ue Aiaferd Sy
4, TLH HAU BIRPT

Options :

68634025781. 1
68634025782. 2
68634025783. 3
68634025784. 4

L

Question Number : 47 Question Id : 6863406518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The egg of birds and fishes have only one small area which 1s free of yolk and where division takes place.
Such an egg 1s known as:

1. Telolecithal

| )

. Centrolecithal
3. Isolecithal
4. Mesolecithal
Options :
68634025785. 1
68634025786. 2

68634025787. 3
68634025788. 4

Question Number : 47 Question Id : 6863406518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂ?ﬂﬁ%@@ﬁwﬁcrmﬁﬁam%ﬁmﬁtﬁﬂﬁﬁﬁm IR gef faumH Bl 8. U9 3i3

1. Marediaet
 hgulde]
3. ggEUd@!

| )



Options :

68634025785. 1
68634025786. 2
68634025787. 3
68634025788. 4

Question Number : 48 Question Id : 6863406519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the hominins first migrated out of Africa?
1. Homo ergaster
2. Homo habilis
3. Homo erectus
4. Ardipithecus ramidus
Options :
68634025789. 1
68634025790. 2

68634025791. 3
68634025792. 4

Question Number : 48 Question Id : 6863406519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 7 9 oF 9 AHG9H o1 G4 Jgd bl § ST g3

BRI ¥

4. HISTTeli sy

Options :

68634025789. 1
68634025790. 2
68634025791. 3
68634025792. 4

fa—y

| )

L

Question Number : 49 Question Id : 6863406520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ribozyme that catalyses peptide bond formation during prokaryotic protein synthesis 1s:

1. 285 tRNA

| B

. 235 1RNA
3.165 rRNA
4. 5.85 rRNA
Options :
68634025793. 1
68634025794. 2

68634025795. 3
68634025796. 4

Question Number : 49 Question Id : 6863406520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFgfafad § 9 &F 91 Igasd T Sl § Uic Yyl & 3SR &d 82

1. 285 rRINA

2

. 235 1RNA
3. 165 1RNA
4. 5.85 rRNA
Options :
68634025793. 1
68634025794. 2

68634025795. 3
68634025796. 4

Question Number : 50 Question Id : 6863406521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Cosmid vector 1s made up of:
1. Bacterial plasmid and lambda phage DNA
2. Lambda phage DNA and Bacterial Fertility factor
3. Bacterial fertility factor and bacterial plasmid
4. Yeast telomeres and Yeast ARS. DNA
Options :

68634025797. 1
68634025798. 2



68634025799. 3
68634025800. 4

Question Number : 50 Question Id : 6863406521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

BT daey 394 §dT &

1. SiigTiae @IeTs R ars] faqTol 31T ¥ |
. irsT el DNA 3R Siiaiigd Uei=4 SR J |
 SHATUas Yol HRE R Siarigs @IS 9 |

[

L

4, O AR SR e TRy, STt e d |

Options :

68634025797. 1
68634025798. 2
68634025799. 3
68634025800. 4

Question Number : 51 Question Id : 6863406522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A population has 600 individuals, 150 of genotype AA. 300 of genotype Aa and 150 of genotype aa. What 1s
the frequency of allele A?

1. 0.5

| )

0.4
3. 0.35

4. 0.6

Options :

68634025801. 1
68634025802. 2
68634025803. 3
68634025804. 4

Question Number : 51 Question Id : 6863406522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gwa}n‘a’lfﬁﬁ 600 S8 §, 150 BT ST UFT AA B, 300 BT Aa AR 150 FT aa ¢ | Taild AP SMGRI AN

s B B

| o

0.4
5: (135

4. 0.6

Options :

68634025801. 1
68634025802. 2
68634025803. 3
68634025804. 4

Question Number : 52 Question Id : 6863406523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Pathogen/Infective stage Mode of transmission
o i g Aerial
A | Trichomonas vaginalis L o
transmission
Metacestodes of Echinococcus 1 Sexual
multilocilaris | ransmission
Myvcobacterium tuberculosis ITII. | Direct contact
s ; - | Tropic
D. |Lice and mites V. B
transmission

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

| )

A-IL B-IV, C-1, D-III
3. A-IIT, B-1, C-IV. D-II
4, A-IV, B-11, C-III, D-I

Options :

68634025805. 1
68634025806. 2
68634025807. 3
68634025808. 4

Question Number : 52 Question Id : 6863406523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor
A1 T

TRIU)/ TehTHS =R0T HeRUI &1 a1
CIE@HIHIAN dfo-icrd I [ama d3Ro
SHIZHIBIFT HeolclageiNd :

1L | it
IS e

Tz plaiac g Sqavagaiad 1. [Gien Tadh
[ol 3R Fewt @Y TV [g90) GeR0T

fafaRad faeedl O ¥ I8! SR &1 99 Hifold ;

1. A-I, B-III, C-II. D-IV

ofn] w [»

2. A-IL B-IV. C-I, D-III
3. A-IIL. B-1. C-IV, D-II
4, A-IV, B-II. C-III. D-I

Options :

68634025805. 1

68634025806. 2

68634025807. 3
68634025808. 4

Question Number : 53 Question Id : 6863406524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Scurvy is a disease due to deficiency of Vitamin C.

Reason R: Scurvy is characterised by long digits and extensibility of joints.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634025809. 1
68634025810. 2
68634025811. 3
68634025812. 4



Question Number : 53 Question Id : 6863406524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁ$iﬂmm%;.ﬂ$aff\wzﬁA(AsseﬂinuA]%Wﬁ%@ﬁ%fﬁ@ﬂmWR(Reasnn
R)D ¥UH

Assertion A: T U [deTia I @I HHI I §H are I gl

Reason R: THA & T&UT & @il STIferdr $iR Siig! 1 fawaRyd g1

SR HUF & 3T 4, 1< 41 T faeedl & 3 §a9 3Ugad SR &1 99 & [1ulL;
1. A SIRR &I Hel § SR R. A DI Ug! ARAT §

A SRR IF TS § SR R AP TEl AN T §

5. AT R Ol R O T ®

4 AT TSI S APTIRTEI §

Options :

68634025809. 1
68634025810. 2
68634025811. 3
68634025812. 4

2

Question Number : 54 Question Id : 6863406525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The wing of a bird. forelimb of human and forelimb of lizard are homologous.
Reason R: Organ's underlying similarity arises due to their derrvation from common ancestors.

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

68634025813. 1
68634025814. 2
68634025815. 3
68634025816. 4



Question Number : 54 Question Id : 6863406525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g PU= U U B, TP AFUBYT A (Assertion A) & U H [REd § Al GIRT SHD BRUTR (Reason
R)BITH

HIUDYT A: Uell & U, HId & 3EIUIG SR [yl & 3@dg AN § |

PRUTR: 3 [SHS! WRFT U 9 Blll . 98 I Ydoll ¥ 399 8/d o

SR HUF & e 4, 1< 41 T fasedl & 9 999 3Ugad SR &1 99 &1l
1. A SIRR &I Hel § SR R. A DI Ug! ARAT §

A IR REF TE € AR R, AT U e A

3. AT S AfPAR T AT

4 A TSI TR S AP R T ©

Options :

68634025813. 1
68634025814. 2
68634025815. 3
68634025816. 4

2

Question Number : 55 Question Id : 6863406526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Scatfolding proteins are non-histone chromosomal proteins.
Reason R: Scaffolding proteins are abundant in lysine and Arginine.

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

68634025817. 1
68634025818. 2
68634025819. 3
68634025820. 4



Question Number : 55 Question Id : 6863406526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g PU= U U B, TP AFUBYT A (Assertion A) & U H [REd § Al GIRT SHD BRUTR (Reason
R)BITH

DY A: THHICET UITH U UBR &I AH-Tee - HIHEHd UiciH 6|

BRI R: WIS WIEH Trgdi 3R Sfoi-iH § sRgR g1l T

SR HUF & e 4, 1< 41 T fasedl & 9 999 3Ugad SR &1 99 &1l
1. A SRR G el § 3R R, A DI Ug! ARAT &

A SRR TS € IR R, A T I e A ©

AT R AR T AT

4, A G2 8T B APIR FEI €

Options :

68634025817. 1
68634025818. 2
68634025819. 3
68634025820. 4

2

Question Number : 56 Question Id : 6863406527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: Treatment of immunoglobulin IgG with B-mercaptoethanol gives rise to two heavy chains and
two light chains peptides on SDS-PAGE.

Reason R: f-mercaptoethanol breaks peptide bond at the site of disulphide linkage.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634025821. 1
68634025822. 2
68634025823. 3
68634025824. 4



Question Number : 56 Question Id : 6863406527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁiﬂﬁqwg.waﬁ-ﬁﬂﬁA(AsserﬁnuA)%Wﬁ%@ﬁ%fﬁmmmR(Reason
R/&ITH

SfUFYT A: 8 TR 16 T 8= p- TRSTIZINTE & 914 81 2 79 &1 Ul Saen iR 31 651 & UUCTES SDS-PAGE
TR U gid g

PRI R: p- 5P SRUCHISS (bl & WH R J9eEs &Y &l disdl ol
SWRIed HUH & 3elie 4, A= [4U T [dehedl & I §ad 3ugad Sax &l 94 Sl
A JRREF FE € AR R AT T AR B

A SRR ¥el § SR R. A DI ! ARA 51 o

AT AR TS TSR

A 61 el dfb R ¥El §

Options :

68634025821. 1
68634025822. 2
68634025823. 3
68634025824. 4

—

b2

L¥ 5]

=

Question Number : 57 Question Id : 6863406528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Monkeys and chimpanzees cannot mate i present day conditions.
Reason R: Reproductive 1solation is reversible.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634025825. 1
68634025826. 2
68634025827. 3
68634025828. 4



Question Number : 57 Question Id : 6863406528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 g1 U [T U §. Ud SITUSBYT A (Assertion A) P U T [AIRGd § dl GIRT 3HD BRI R (Reason
R)BITH

HFUSYT A: gauH (U T gex R U G4 =81 o2 9 d |

HROT R: T-19 GUFH0] IGHHUNT Bl &

SR HUF & HTdie 4, 1< G0 T faded! & 9 §a9 3Ugad SR &1 98- & I1ulu
1. A SIRR &I Hel § SR R. A DI Ug! ARAT §

A SRR EF 98l € SR R. A D] 5! ARAT 61 ¢

3. AT S AfPAR T AT

4 A TSI TR S AP R T ©

Options :

68634025825. 1
68634025826. 2
68634025827. 3
68634025828. 4

2

Question Number : 58 Question Id : 6863406529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Glucose-6-phosphate dehydrogenase detficiency is associated with antibiotic resistance,

Reason R: Plasmodium is dependent on Hexose monophosphate shunt and reduced glutathione for their
optimum growth in RBCs,

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634025829. 1
68634025830. 2
68634025831. 3



68634025832. 4

Question Number : 58 Question Id : 6863406529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & U AU T §, Ud U YT A (Assertion A) & T9 1 [WRGd § T THRI 3D BT R(Reason
R/&¥4H

HFUBYT A: THY-6-BRpC SEESIT-1H BT Sguidr ofa HfeRiy I Jaferd g |

BRI R: WISHSTH, TTd a0 P01 B U SPadd dia & 100 saaid JiH] BIhe I 3R
I T U= IR R PR g

SWRIe HUF & 3Helie 4, 1< [ MU fdehedl & I wad 3ugad Sax &l 94 & 1lu
1. A SRR HEI € SRR AT U8 ARAT &

A SIRREHI T8l § SIRR. A DI g ARA 51 ¢

5. AT T AFAIR TG TSR

4. A TRl gl APTRUET ©

Options :

68634025829. 1
68634025830. 2
68634025831. 3
68634025832. 4

b2

Question Number : 59 Question Id : 6863406530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Salamanders belong to order Apoda of class Amphibia.
Reason R:The order Apoda of class Amphibia includes elongated. limbless and burrowing creatures.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

68634025833. 1
68634025834. 2



68634025835. 3
68634025836. 4

Question Number : 59 Question Id : 6863406530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 g1 U [T T §, Ud SITUSBYT A (Assertion A) & 30 I [6REd § Al GERT 3UD BRI R(Reason
R&FIUH

HUBYT A: JATT T S(91E, T TR 4§ Halod 5

BRI R: Y TARITER & ail SU1E J qd. 37015 3R TRt wifn o1d T

SR HUF & 3fTde 4, A< GU T fdeedl & 3 999 3Ugad SR &1 98- S 11ulU
1. A 3R R H Wl § SR R, A ! Uel RS &

A SRREH I81 § AR R. AD] U5l ARAT 81 ¢

AT AFAR TG A

4. A TSI TR S AP R T ©

Options :

68634025833. 1
68634025834. 2
68634025835. 3
68634025836. 4

b2

Question Number : 60 Question Id : 6863406531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sponges are the only major phylum that lack nerves.

Statement IT: The simplest nervous system occurs in platyhelminthes.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement [ is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :

68634025837. 1
68634025838. 2



68634025839. 3
68634025840. 4

Question Number : 60 Question Id : 6863406531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 gl Py fGU MU -
S I Tt R T U e wrga & forad dfer et sl
FY I1: Ta R A1 oF DelelcHy (Tgi) ¥ gl g
SR B & 3faie 4, A< G0 T fdeedl & 3 999 3Ugad SR &1 98- S I1910;
1. FY 1 IR HYA I aHI TEi §
2. YT 3R YA 11 &1 7Ted &
3. BYA 1 el 6. i U I17Ted &
4, DY 1T B, AAleb HYT 11 981 &

Options :

68634025837. 1
68634025838. 2
68634025839. 3
68634025840. 4

Question Number : 61 Question Id : 6863406532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Messenger RNA capping. polyadenylation and splicing are coupled to transeription in
eukaryotes.

Statement IT: Transcription and translation are compartmentalized in prokaryotes.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement I is correct
Options :

68634025841. 1
68634025842. 2



68634025843. 3
68634025844. 4

Question Number : 61 Question Id : 6863406532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 gl By Gy MU &
HYF I THRA T 30 3R TF U BT o0, TeufsHay Sk aHaeH srae 9 g g
HY I1: S RAT H Serg R RIHR0 SN sial g |
SR B & 3faie 4, A< G0 T fdeedl & 3 999 3Ugad SR &1 98- S I1910;
1. Y1 IR HYA 11 aF1 TE §
2. YT 3R HYF 11 G11 7TeAd &
3. BYA 1 Hel 6. Al HYF 11 7T00d &
4, DY 1T B, AAleb HYT 11 981 &

Options :

68634025841. 1
68634025842.2
68634025843. 3
68634025844. 4

Question Number : 62 Question Id : 6863406533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Transduction is virus-mediated bacterial DNA-recombination.
Statement IT: Transduction is also used for bacterial gene linkage and gene mapping studies.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement I 1s true
Options :
68634025845. 1

68634025846. 2
68634025847. 3



68634025848. 4

Question Number : 62 Question Id : 6863406533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A a1 By R U E:
HYF I URSHHY H I | TN 3 S1a19] & S1 U5 U &1 J7419 gl 5
HY I1: IRHHUI DT SUART SaT0] H S Feaddl SR i U= SerH & A a1 ord g |
SWRIad HUF & el 4, i 3T 71U [dhedl & ¥ ¥9d 3Ugad Sk &I 904 BIT:
1. BT AR YT 11 1 i &
2. YT 3R YT 11 &1 7Te0d &
3. DY e 6. Al HYF 11 7Tad &
4, DY 1T B, Aileb BYT 11 981 &

Options :

68634025845. 1
68634025846. 2
68634025847. 3
68634025848. 4

Question Number : 63 Question Id : 6863406534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Fatty acids undergo beta-oxidation and the products enter the citric acid cycle or combine with
each other to form ketone bodies.

Statement II: Fatty acids undergo beta-oxidation and the products enter glycolysis or combine to form
glucose.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4. Statement [ is false but Statement II is true

Options :

68634025849. 1
68634025850. 2
68634025851. 3



68634025852. 4

Question Number : 63 Question Id : 6863406534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT [ T - 3§ Siel- ATFNHR0 §F U ol SIS §9d ¢ d e 3 99 § Ha & ¢ 71 Uh
I & Y IUled 51 PR BIEH [US &4 ¢ |

YA I1: 391 - 31 § diel- il g4 T o SdIE a-d ¢ dg TS d Iy 3gued 3 Wa¥ 3d & a1
Hufcd IR Py §41d © |

SR HUF & 3Tdie 4, 1< G170 faedl & 9 §a9 3Ugad SR &1 98- & [1ulL;
1. BYT 1 IR PYT I EH T8l &

YA 1 3R BYF 1 ST TTed &

BY 1! . Wi DY 11 7Ted &

4, PYTITIA . Afeh Y 11 eI &

| )

Lag

Options :

68634025849. 1
68634025850. 2
68634025851. 3
68634025852. 4

Question Number : 64 Question Id : 6863406535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Steroid Hormone Site of synthesis
. |Cortisol I. [Kidney
A ldosterone II. |Adrenal-zona fasciculata

Progesterone | I11. |Adrenal-zona glomerulosa

. 1. 25-(OH);D1 | IV. [Corpus luteum

ol [l o] Fi

Choose the correct answer trom the options given below:
1. A-I, B-II. C-III. D-IV
2. A-IL B-L. C-IIL. D-IV
3. A-II. B-IIL C-IV, D-I

4. A-ITT, B-IV. C-1. D-IT



Options :

68634025853. 1
68634025854. 2
68634025855. 3
68634025856. 4

Question Number : 64 Question Id : 6863406535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen

e ai T

A [@liedrd 1 [g9®

B[R | 1 |sritgas o g
C. [eia |1 [siees- A wHsa
D. [1. 25-(0OH),D; | 1v [diq fifs

FfaiRad f[doedl § ¥ Uel 3o & 904 DI

1. A1 B CII DIV
2. A-IL, B-I, C-IIL D-IV
3. A-II, B-III, C-IV. D-I
4. A-TTI, B-IV, C-1, D-II

Options :

68634025853. 1

68634025854, 2

68634025855. 3
68634025856. 4

Question Number : 65 Question Id : 6863406536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Spleen participates in the immune response against blood-borne pathogens.
Statement IT: The lymph node is a highly specialized primary lymphoid organ.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement I is true
Options :
68634025857. 1
68634025858. 2

68634025859. 3
68634025860. 4

Question Number : 65 Question Id : 6863406536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 gl By Gy MU &
SU 1: el 3o U Fas Al & fava wicrel srfshar & ymT ol g1
SYF I1: TP Ud U 3if fafdry vrufires =ity sin g1
SR HUF & 3Tdie 4, 1< G170 faedl & 9 §a9 3Ugad SR &1 98- & [1ulL;
1. HYTI IR DY &HI Tal ©
2. Y 1 3R o 11 31T el el €
3. DY Tl g. clfh HYF 11 7Tad &
4, BYF 1 el e 6. Aich HY 11 Wl §

Options :

68634025857. 1
68634025858. 2
68634025859. 3
68634025860. 4

Question Number : 66 Question Id : 6863406537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Parthenogenesis plays an important role in social organization in colonies of certain bees, wasps,
and ants.

Statement IT: In bees, large number of males (drones) are produced parthenogenetically, whereas sterile
female workers and reproductive females (queens) are produced sexually.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement II are false

L%]

. Statement I is true but Statement II 1s false

4. Statement [ is false but Statement II is true

Options :

68634025861. 1
68634025862. 2
68634025863. 3
68634025864. 4

Question Number : 66 Question Id : 6863406537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa gy fRumu .

®YA I T AyAfaadl, I 3R Fifcal &1 Sl $f Qe Sd § A YEe--, U6 Aedqul
fEyeT Fruar 21

HYA I1: TeAfaEdl § 95 gof 90 1 R (GAYY) SFNSoHd gRI1 30d 8id 5. Sdid o= HIar a1
o Afée R UoHe d1e1 (T g dfe 599 ¥ Sada e B

SR B & 3fTdie 4, 1< GU T el & I 999 SUgad 3ok $1 994 HIT:
1. BT I AR YT 11 1 &1 &
2. T 1 3R B 11 31 T8l T ©
3. DY S 6. b DY 11 7T0d &
4. HYF 1 8l 81 6. Al HUT 11 el §

Options :

68634025861. 1
68634025862. 2
68634025863. 3
68634025864. 4




Question Number : 67 Question Id : 6863406538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: A circadian rhythm cannot be entrained.
Statement IT: Hormone melatonin regulates circadian rhythms.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false
4, Statement I is false but Statement I 1s true
Options :
68634025865. 1
68634025866. 2

68634025867. 3
68634025868. 4

Question Number : 67 Question Id : 6863406538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Py R E:
FYF 1. RRPIST 7 1 giiférd =T fasar s gepa|
HYF II: THH Foei-- RRepfeg- o &1 Fufa s gl
SWRIed HUH & 3Helie 4, 1< [ T fdehedl & I §ad 3ugad 3o &l 99 &1L
1. BT AR YT 11 1 G &
2. BYA I 3R YT I G141 Tad ©
3. DY e 6. Al HYF 11 7Tad &
4. BYF 17TeTd &, Cifchd BUT I Tl &

Options :

68634025865. 1
68634025866. 2
68634025867. 3
68634025868. 4

Question Number : 68 Question Id : 6863406539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
CD Antigen Expression on cells
A |lcpa I IMHC class I-restricted
T-cells
; IMHC class IT-restricted|
CD8 II. T Celis
C. |CD19 II1. |All leukocytes
D. |CD18 IV, [B-cells

Choose the correct answer trom the options given below:

1. A-L B-III. C-IV, D-II
2. A-IL B-L. C-IV. D-III
3. A-IL. B-IV, C-III, D-I
4. A-IV. B-III. C-1. D-II

Options :

68634025869. 1

68634025870. 2

68634025871. 3
68634025872. 4

Question Number : 68 Question Id : 6863406539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
LIST I LIST I
CD Antigen Expression on cells
A Jep4 1. pMHEC & LUGEld TaifEmn
B [cDg L. MHEC T 11-UidsiEd T-®iRdm
C. [cD19 II1. [T &1
D. [cDi1g V. [B-DIfEHT
i [deedl © 3 Ut 30 &1 994 HIla ;

1. A-I. B-III. C-IV, D-II
2. A-IL B-1. C-IV, D-III
3. A-IL B-IV. C-III. D-I
4. A-IV. B-III. C-1. D-II

Options :
68634025869. 1



68634025870. 2
68634025871. 3
68634025872. 4

Question Number : 69 Question Id : 6863406540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Virus Disease
A |HINI Virus I. | Guillian Barre Syndrome
B |Emaaae @ |2 A0
Respiratory Syndrome
C. | Corona Virus | III. | Yellow Fever
D. | Zika Virus IV | Swine Flu

Choose the correct answer from the options given below:

1. A-II, B-I, C-II. D-IV
2. AL B-IL C-IV. D-III
3. A-IV. B-IIL. C-I1. D-I
4. A-III, B-IV. C-II. D-1

Options :

68634025873. 1

68634025874. 2

68634025875. 3
68634025876. 4

Question Number : 69 Question Id : 6863406540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T I
i amRg [ 1L g aR Rsm
TRy | 1 [gds, e 4 s
®RIFT A | 1L [did w92
Siearg [ 1v [ERa w

fafarad fawent § T 96l SR &1 997 SO -

1. A-II. B-I. C-III. D-IV

ol Fod sl Jre

| o

A-IL B-1. C-IV, D-III
3. A-IV. B-IIL. C-II. D-I
4. A-III, B-IV. C-II, D-I

Options :

68634025873. 1
68634025874. 2
68634025875. 3
68634025876. 4

Question Number : 70 Question Id : 6863406541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Enzymes Functions
DNA polymerase g < :
A etk I. | Base-excision DNA repair

B. | DNA polymerase p beta) | 1L RNA/DH A prinsry nthation oF

DNA synthesis
DNA Mitochondrial DNA replication
C. : ) 1. e
polymerase v (gamma) and repair
D. i IV, | Translation DNA synthesis

(Kappa)

Choose the correct answer from the options given below:

1. A-I. B-1I, C-IV, D-ITI

| ]

A-ILL B-1, C-III. D-IV
3. A-IL B-III. C-IV. D-I
4, A-IV, B-I1, C-III. D-I
Options :

68634025877. 1
68634025878. 2



68634025879. 3
68634025880. 4

Question Number : 70 Question Id : 6863406541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T 1 A1
S T U OTeH o (3B L[S 4R Jwe ol T4 U R
S1 U9 UUIEad B @len | 1L [E1 04 U 3R U U Hig iR URYA S U4 U ORa9Y) & (oY
51 TH U OISl v () | 11 [(GEeiore & 31t U &l Uidsidad SR gar
. [3 T T uicliie = @ | 1V [euiaeur 2t U U URaun

FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-I. B-II. C-IV. D-III

ol Bl el i

| ]

. A-ITL, B-1, C-II1. D-IV
3. A-IIL B-III. C-IV. D-I
4. A-IV, B-II, C-II1, D-I

Options :

68634025877. 1
68634025878. 2
68634025879. 3
68634025880. 4

Question Number : 71 Question Id : 6863406542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Tvpe of Epithelium Location
Simple squamous Lining of kidney ducts and
Ao [ I
epithelium tubules
g, [Pl cubaidal I |Tinie arblied el
epithelium
= S“.“pl'e. ek i ITT. | Lining of oral cavity
epithelium
D. St_ratlt%ecl squarious IV, | Lining of intestinal tract
epithelium

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

. A-ILL B-1, C-III. D-IV
3. A-L. B-II. C-IV, D-III
4. A-1. B-II, C-III., D-IV

Options :

68634025881. 1
68634025882. 2
68634025883. 3
68634025884. 4

Question Number : 71 Question Id : 6863406542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

I
IUFAT F TP T
_ [Grem grept U | L [ga@ & digHl MR AfcinT B 3
HTER0] SR 3uddl 11 Rad sl &l AR
) THT Juehan | 111 [73 8T 1 K
N Ted! SUdal | IV [3HiFE® &3 BT 3R]

fFafaRad famedl O ¥ I8! 3R &1 99 Hifold ;

1. A-II. B-I. C-IV, D-ITI

IR

2. A-IL B-I, C-IIIL. D-IV
3. A-L B-II. C-IV, D-III
4. A-L. B-II. C-IIIL. D-IV

Options :
68634025881. 1



68634025882. 2
68634025883. 3
68634025884. 4

Question Number : 72 Question Id : 6863406543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Biosphere Reserve State
Nilgiri Biosphere Reserve 1. |Orissa
Simlipal Biosphere Reserve | I1. | Tamil Nadu
Manas Biosphere Reserve | III | Sikkim
K__ha.ng Chend Zonga v | Ases
Biosphere Reserve ’

R EE

Choose the correct answer from the options given below:

1. A-I. B-II, C-II. D-IV
2. A-IL B-I. C-III. D-IV
3. A-IL B-1. C-IV, D-III
4. A-L. B-II. C-IV, D-III

Options :

68634025885. 1

68634025886. 2

68634025887. 3
68634025888. 4

Question Number : 72 Question Id : 6863406543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

I it
Al sladed gy R
i wadsd Hag | 1L [diEars
q-Y Slaqed Hed 111, [afded
_ [&r 9ie St SieHsa = v [srg|

fFafaRad faeedl O ¥ I8! 3tk &1 99 Hifol ;

1. A-I. B-II, C-III. D-IV

ofow]>

2. A-IL B-I, C-IIIL. D-IV
3. A-IL B-1. C-IV, D-III
4. A-L. B-II. C-IV, D-III

Options :

68634025885. 1
68634025886. 2
68634025887. 3
68634025888. 4

Question Number : 73 Question Id : 6863406544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Cell Types Niches
Brain (Neurons & Ventricular & Sub-ventricular
A : L
Glia) zone
Mesenchymal stem
: . II. Bone marrow
cells
C. [Kupffer cells ITL. [Liver
Hematopoitic stem v A dipose tissue, placenta, bone
" |cells " Imarrow

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

A-IL B-ILL C-IL D-IV
3. A-L. B-IV, C-III. D-II
4, A-IV, B-III. C-II, D-I
Options :

68634025889. 1
68634025890. 2



68634025891. 3
68634025892 4

Question Number : 73 Question Id : 6863406544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

I I
aﬁﬁgm g—d
A (AT @ ESIRE AR | 1 [Heg iR 3050y &
B. [HU-P1gH ¥H BIfNra il S
C. [ DIRHl 111 fagd
D. Red[d@IGd ©H BIRdIY IV, [GHHT S, AW, AR T ]
frafafad fdoeal & I Hel SR &1 99 DIfy

1. A-I. B-II, C-III. D-IV
2. A-IL B-II. C-1. D-IV
3. A-L B-IV. C-III. D-II
4. A-IV. B-IIL C-II. D-I

Options :

68634025889. 1
68634025890. 2
68634025891. 3
68634025892. 4

Question Number : 74 Question Id : 6863406545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1 LISTII
Technique Application
i, Polymerase chain reaction I Specific identification of DINA
" [(PCE) " Imolecules
B. |Southern blotting I Spem_:ﬁc identification of
proteins
. . Cell-free amplification of
C. [Northern blotting 111 DA sleinlas
Iy [Waster liting v Specific identification of RNA
molecules

Choose the correct answer from the options given below:

1. A-III, B-II. C-IV. D-1

[ ]

AT B-1L C-IV, D-ITT
3. A-IL B-IV. C-1, D-III
4. A-1I, B-111, C-I, D-IV

Options :

68634025893. 1
68634025894. 2
68634025895. 3
68634025896. 4

Question Number : 74 Question Id : 6863406545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen

Tt 1 dPTS T I
A [giems gaan stufdal| 1 [S1 v U e &1 [y ugaH
B. [gg =iyor 11 [T ot fafRIp ugaq
C. [T 20 111 [S1 U U U3 BT f941 DIADT b g8
D_ [aigE e IV [31R U7 U eropaf @t [aRp ugdr
frafeiad faeeal & 9 9t g @1 Ig1 Sifo -

1. A-TII, B-II. C-IV. D-I

| o

A-IILL B-1 C-IV, D-III
3. A-IL B-IV. C-1, D-III
4. A-IL B-I1I. C-1. D-IV
Options :

68634025893. 1
68634025894. 2



68634025895. 3
68634025896. 4

Question Number : 75 Question Id : 6863406546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Order of class Reptilia | Representative animal
A | Squamata I. | Tortoise
B. | Crocodilia IT. | Tuatara
C. | Chelonia 1. | Gharial
D._ | Rhvnchocephelia | IV | Monitor lizard

Choose the correct answer from the options given below:

1. A-I. B-IV. C-III, D-III

[ ]

. A-IL B-1, C-III. D-IV
3. A-IV, B-IL. C-III. D-I
4. A-IV. B-III. C-I. D-II

Options :

68634025897. 1
68634025898. 2
68634025899. 3
68634025900. 4

Question Number : 75 Question Id : 6863406546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

A [&@He

NEGEED
B. plmisiicmn 1L [eUeR]
C. [Ererta 111 [aiare
D. [pifatefemr |1V [HiFie fudmdl

Fafiad Aol § O 981 SR &1 90 S ;

1. A-I. B-IV. C-III. D-IIT

-2

A-ILL B-1, C-III. D-IV
3. A-IV. B-II. C-III. D-I
4. A-IV. B-IIL C-I. D-II

Options :

68634025897. 1
68634025898. 2
68634025899. 3
68634025900. 4

Question Number : 76 Question Id : 6863406547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps involved in cloning of gene mto plasmid:

A. Selection of confirmation of recombinant clones

B. Ligation of the gene of interest and plasmid

C. Amplification of the gene of interest using template DNA

D. Transtormation of bacterium using the recombinant plasmid

E. Restriction endonuclease treatment of the suitable plasmid and gene of interest.

Choose the correct answer from the options given below:

1L.E EB DA

b2

AL AL
3.B.A.E.C.D
4. C,B.A.D.E

Options :

68634025901. 1
68634025902. 2
68634025903. 3
68634025904. 4



Question Number : 76 Question Id : 6863406547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS T Wi &l & o8 3T 7T =R01 &1 SH-ER Tl |

A. TAISI® oA &1 919 3R gy

B. WIETS 3R qifesd Siid BT A=A

C. ¢Ude S U U BT UGN R & difesd o &l Hae-

D. TSI WIS T W1y § 3YiaRyl

E. SUgdd WIS R difed Wi &l Ufddu- TSI-gfeud & Iy sfHfsar

=i fau Y fas et & ¥ Hel SR &1 97U Difen -

1.C.EB DA

[ ]

E.D.C.A.B
3. BLALE.C.D
4. C.B.A.D.E

Options :

68634025901. 1
68634025902. 2
68634025903. 3
68634025904. 4

Question Number : 77 Question Id : 6863406548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The flow of water in syconoid type of water canal system in sponges follows the course of:

A. Osculum

B. Spongocoel

C. Radial canals
D. Incurrent canals
E. Dermal Ostia

Choose the correct answer from the options given below:

1A-B—-C —-D—E

[ )

E—=D—-C—-B—A
JE—-C—=D—-B—A
4 A—-B—-D—-C—E

Options :

68634025905. 1

68634025906. 2
68634025907. 3



68634025908. 4

Question Number : 77 Question Id : 6863406548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o H IEHATH UHR & o/d 9de-t a3 8 gH1 Ffeiad anf S ssar gl

A. JHieged
B. Woirdid
c. &g Fama
D. SA@E HATd
E. S3Hd SHIRedr

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1 A—-B—-C —=D—=E

2Z2E—=D—-C—-B—A
3JE-C—-D—-B—A
4 A—-B—-D—-C—=E

Options :

68634025905. 1
68634025906. 2
68634025907. 3
68634025908. 4

Question Number : 78 Question Id : 6863406549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence involved in transcription and translation process in eukaryotes:

A. mRNA leaves the nucleus and attaches to a ribosome in cytosol
B. RNA processing

C. Transcription

D. Peptic bond formation between amino acids

E. Ribosome assembly

Choose the correct answer from the options given below:

1.C,B.ALE.D

[ )

-ABEVE D
3.B,CADE
4. C.AB.D.E

Options :



68634025909. 1
68634025910. 2
68634025911. 3
68634025912. 4

Question Number : 78 Question Id : 6863406549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o] & g SR SUaR0l @i Uiehal & 9RO & ¥el HH gail:
A A IR T T 5T I TR Fod o= Sife fac & ey & 9y Jsars |
B. R U U & T4 |
&,
D. SHHI 3%l & &g UpTes Tgei &1 a1 |
E. &6y & 99= |

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;

1LE, B.AH.D

2.AB.C.ED
3B, CADE
4 C.A.B.D.E

Options :

68634025909. 1
68634025910. 2
68634025911. 3
68634025912. 4

Question Number : 79 Question Id : 6863406550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the sequence in the mechanism of local inflammatory response:

A. Presence of pathogen at the site of injury

B. Capillaries widen and become more permeable

C. Most cells release histamines

D. Entry of anti-microbial peptides at the site of mnjury

E. Signals released by immune cells. attract neutrophills which digest the pathogen and heals the tissue

Choose the correct answer from the options given below:
1.LA.B,C.D.E
2.A.C.B.D.E
3.B.A.C.D,E
4 A C.D.E.B

Options :

68634025913. 1
68634025914. 2
68634025915. 3
68634025916. 4

Question Number : 79 Question Id : 6863406550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ty Yo sforan @t foarfafd &

A. 9 & RIF IR GYIoH &1

B. L1131 BT [GHRT 3R 31f4e g g

C. °IE SIR@13fl gRI fe&H 1 &7 A

D. i & R R VRS UPEs! &1 aw

E.W&Wﬁmmmﬁa’ﬁ@?@ﬁﬁﬁwm.mﬁﬁmﬂw%ﬁ
ESEl

i fau e fdeedi § O 9gl 3Tk &1 39U Hiferu

LA B.CDE
2.A.C.,B.D.E
3BACDE
4.A.C,D.E.B

Options :

68634025913. 1

68634025914. 2

68634025915. 3
68634025916. 4



Question Number : 80 Question Id : 6863406551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following toxonomic categories from lower to higher level:

A, Family
B. Class

C. Kingdom
D. Order

E. Species

Choose the correct answer from the options given below:

1. E—-=D—-A—-B-—-C

[

E—=B—A—-D-=C
3E-A—-B—-D—-=C
4 E—-A—-D—-B—-C

Options :

68634025917. 1
68634025918. 2
68634025919. 3
68634025920. 4

Question Number : 80 Question Id : 6863406551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& T Tle] 1 BT 9 88 TR & TR HHaS a1
A. Td (i)

B. T (FTY)
c. fsn
D. TSR
E. Silfd ( S=iie
i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1. E—-=D—-A—-B—-C

[

E—=B—A—-D-=C
3E-A—-B—-D—-=C
4 E—-A—-D—-B—-C
Options :

68634025917. 1
68634025918. 2



68634025919. 3
68634025920. 4

Question Number : 81 Question Id : 6863406552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are both excitatory and inhibitory neurotransmitters. The inhibitory neurotransmitters from the
following are:

A. Glycine

B. v-aminobutyric acid (GABA)
C. Norepinephrine

D. Taurine

E. Glutamate

Choose the correct answer from the options given below:
1. A. C only
2. B. E only
3.A.B.Donly

4. B, C.E only

Options :

68634025921. 1
68634025922. 2
68634025923. 3
68634025924. 4

Question Number : 81 Question Id : 6863406552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



deTETRl SiHf Stv 3R 3y YR & oid o | Fafefad § 3 3@ UoR & dReRER! sifcu|

1= f3u T o el § 9§ Iel SR @1 99 DI .
1. A. C only
2.B.E only
3.A.B.Donly
4.B.C.E only

Options :

68634025921. 1
68634025922. 2
68634025923. 3
68634025924. 4

Question Number : 82 Question Id : 6863406553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Following are the characteristics of Molluse's:

A Mollusc's are protostomes. have coelom reduced to cavities surrounding heart. nephridia and gonads.

B. Mollusc's members possess a head-foot. visceral mass. mantle and mantle cavity.

C. The rasping organ consists of muscular belt with rows of posteriorly curved teeth.

D. The molluscan body form in the cephalopoda undergoes a 180° anti-clockwise twisting of visceral mass.

E. Protostome characteristics for molluses also include trocophore larvae spiral cleavage and
schizococelous coelom formation.

Choose the set with correct statements from the options given below:
1. A. B and C only
2.B. C and D only
3.A. BandE only

4. C.D and E only

Options :

68634025925. 1
68634025926. 2
68634025927. 3
68634025928. 4



Question Number : 82 Question Id : 6863406553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ggdadi & fafny e yg=ng

A HgdHadl UICREH §. 3! Hiel, Jfebisfl § ua=gd § ol a4, gabd 3R S-14 1l &1 Ul g1
B. Jgdaiadl # ¥R, Ui, Siqd 4o, #-ed SR Hed Yfiedl gidi 8|

C. TR 31 U= S 1 &1 gial ¢ fora 9y afepd aial &1 digkal gl

D. {g@afaal #1 Irike a1 Spararst # 180° 3 Gliaalpared XS, Sia¥T guf H a=id! ¢

E. Ja@drad] & Uieim &Gy da0 bR aRdl, TERd fdaad SR Meaeied el & a1

- fau e faw et & ¥ Hel ST &1 93U Difen -

1. A. B and C only

[ ]

.B. C and D only
3.A. B and E only
4. C.D and E only

Options :

68634025925. 1
68634025926. 2
68634025927. 3
68634025928. 4

Question Number : 83 Question Id : 6863406554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Mechanism Intercellular Communication
A | Darect Communication| I. | Bloed stream
B. | Paracrine II. | Gap junction
C. | Endocrine I1I. | Extracellular fluid
D.

Synaptic transmission | IV, | Across synaptic cleft

Choose the correct answer from the options given below:
1. A-IL. B-1II. C-I. D-IV
2. A-L, B-IL. C-IIL. D-IV
3. A-IV. B-III. C-II. D-1
4. A-II1, B-II. C-1. D-IV

Options :
68634025929. 1



68634025930. 2
68634025931. 3
68634025932. 4

Question Number : 83 Question Id : 6863406554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

I I

e GaR I Ragamn

URTshTE 1L [Sigerell OiY (19 Sia=m)
EERCIE 111 [IfRIehTeTel 5
ST G IV, [SidUyET TR & R

Fafaiad f[deedl § O Uel 3R & 944 DI

1. A-II., B-III, C-I. D-IV

Ofo|w|*=

2. A-1. B-II, C-III, D-IV
3. A-IV. B-IIL C-II. D-I
4. A-IIT, B-11. C-1. D-IV

Options :

68634025929. 1
68634025930. 2
68634025931. 3
68634025932. 4

Question Number : 84 Question Id : 6863406555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Terato gcns are.

A. Environmental compounds that can alter development.

B. Act at specific times when certain organs are farming.

C. The teratogen class includes drugs. chemicals. viruses and radiations.

D. Heavy metals such as zine are teratogens but lead and mercury are not considered as teratogens.

Choose the correct answer from the options given below:

1. A, B and D only

[

.A. CandD only
3.A.Band C only

4. A and D only



Options :

68634025933. 1
68634025934.2
68634025935. 3
68634025936. 4

Question Number : 84 Question Id : 6863406555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foeTeH 7

A TOTaR0T AT S gfg T uRac o 3

B. U® [Huflvd 999 W= Iishd gid & 9id o 371l I (HHI0r gl IgT sl & |

c. fo=ueHl & ol § 2frd €. S, I9T9H, IRy 2R fafdruf

D. UK ¥Tg o ST [d99= g fobe T 1R UR ] [d=uei =gl 31 Sl

i fau Tt faeedi o 9 el SR &1 994 Hifoid:
1. %aTA. B 3R D
2. %I A, C 3R D
3. HIAAB IR C
4. Had A 3R D

Options :

68634025933. 1
68634025934. 2
68634025935. 3
68634025936. 4

Question Number : 85 Question Id : 6863406556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Proteins can be separated according to size by following techniques except:

A Isoelectric focusing

B. 5D5-PAGE

C. Ion exchange chromatography

D. Molecular exclusion chromatography

Choose the correct answer from the options given below:
1. Aand B only
2. B and C only
3. Cand D only

4. A and C only

Options :

68634025937. 1
68634025938. 2
68634025939. 3
68634025940. 4

Question Number : 85 Question Id : 6863406556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad o 9 foe [l & gR1 U $1 378 PR & YR IR YUS -6l [l ol gHdl g

A. YU S Bib |
B. U9 oI G US|

C. 3O Taeo gufaif@d!
D. 31figs fafmg aufafast

i fau Tt faeedi o 9 el SR &1 994 Hifoid:
1. Had A R B
2.PaAB AR C
3.%4dd C3RD
4.%ad ASRC

Options :

68634025937. 1
68634025938. 2
68634025939. 3
68634025940. 4

Question Number : 86 Question Id : 6863406557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The following statements are associated with human female reproductive physiology.

A. The uterine cycle during menstruation includes follicular phase, ovulation and luteal phase.
B. The degeneration of corpus luteum is called luteolysis.

C. An increase in plasma progesterone level synchronises with the luteal phase.

D. After oocyte maturation. ovulation takes place.

Choose the correct answer from the options given below:

1.A.B.C.Donly

| )

.A. C.D only
3.A B.Donly
4.B.C.D only

Options :

68634025941. 1
68634025942. 2
68634025943. 3
68634025944. 4

Question Number : 86 Question Id : 6863406557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & ¥ Ama Arer o= IR o fogm @ d6fia sya sifeul

A, 3MTcia THIRG 956 B I91HH & SR Yoo 1 Wawd, Siart SR didfts marm et 81
B. Uid s & 8N & |fcaiass $8d

C. IO H g dl g Uioieg (4 Uld WIaRIT & F1Y FHId e didl o

D. 3(8® URUSHdI & UAd Sl gar |

4 fau e famedl & 9 98l SR @1 904 Sifey
1.9dd A, B.C.D
2. HAAA.C.D
3.%de A.B.D
4.%dd B.C.D

Options :

68634025941. 1
68634025942. 2
68634025943. 3
68634025944. 4



Question Number : 87 Question Id : 6863406558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: During gel electrophoresis. DNA moves from anode to cathode.
Reason R: DNA is negatively charged.

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634025945. 1
68634025946. 2
68634025947. 3
68634025948. 4

Question Number : 87 Question Id : 6863406558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & U AU T &, Ud SIfUS YT A(Assertion A) & U H [TRGT § ol G¥RT 3HP DRI R(Reason
R/&ITH

SfHFYT A: TOSAa PRITY & GRMA o T1 T HUS T TS B IR 90 Il ¢

PRUTR: SI U4 U H BUTHD G 5

SWRIe HUF & 3dlie 4, A< U T fdeedl & I wad 3ugad Sar &l 94 & 1ulu
1. A SRR HEI € AR R AP IE AR &

A SIRREHI T8l § SIRR. A®| Ug! ARA 51 ¢

3 AT R ABIR TE S R

4. A TR TR ¢ AfbT R WG ©

Options :

68634025945. 1
68634025946. 2
68634025947. 3
68634025948. 4

b2



Question Number : 88 Question Id : 6863406559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements:

A. Tumor cells differ from normal cells by changes in the regulation of growth.
B. Proto-oncogenes encode defective proteins.

C. Tumor cells can display tumor-specific antigens/novel antigens.

D. Several cytokines including IFN and TNF help to mediate tumor-cell killing.

Choose the correct answer from the options given below:

1. A. C and D only

| )

.B.CandD only
3. A. B and C only
4. A. B and D only

Options :

68634025949. 1

68634025950. 2

68634025951. 3
68634025952. 4

Question Number : 88 Question Id : 6863406559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafead # 9 9gl HY= 31 F1d B

A. 3(EE DIRABTY FYRY DIRB137 F et Bl &, iTeh 311 gieg; bl =01 SRFT BT 8 1
B. WICI-h Il GaIY Ui & peciad Hd o
C. 31gg DIAPI, g ARy ufder fafm ufae= &1 vex 78] &= gl |
D. 3@ AIZcilg ofd IFN 3R TNF & & I¥@] &l ¥ B3+ & A gl ¢ |

Hid f4u U [doedl H§ ¥ 9ol 3R &1 94 S Ilol:
1. %ad A, C (R D
2.%del B, Cand D
3.%dd A.B3RC
4.%9d A.B3IRD

Options :

68634025949. 1
68634025950. 2
68634025951. 3
68634025952. 4



Question Number : 89 Question Id : 6863406560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the primates in order from oldest to recent in terms of evolution:

A. Old world monkeys
B. Orangutons

C. Gibbons

D. Gorillas

Choose the correct answer trom the options given below:
1.B, A, €,;D
2.8;C;B, D
3 B:C.4D
4 A,C.D,B

Options :

68634025953. 1
68634025954. 2
68634025955. 3
68634025956. 4

Question Number : 89 Question Id : 6863406560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[rafeiRad mghied @ [dP¥ & YR IR QR0 4 Tdiq9 0 I fer:
A. I T6 daX
B. 31U
c. s
D. TR

- fau e fawedi # 9 Hel ST &1 99 Sifo:

1.B.A.C.D

| ]

LA C. B, D
3.B.C.A.D
4. A.C.D.B

Options :

68634025953. 1
68634025954. 2
68634025955. 3
68634025956. 4



Question Number : 90 Question Id : 6863406561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the major thematic events of xenopus gastrulation from early to late stage.

A. Epiboly of the ectoderm around the entire embryo.

B. Extension of the body along anterior-posterior axis.

C. Formation of bottle cells and internalisation of the endoderm and mesoderm.
D. Cortical rotation and formation of grey crescent.

Choose the correct answer from the options given below:

1l A—-B—-C—D
2B—-C—-D—-A
3 C-A—-D—B
4 D—-C—-A—B

Options :

68634025957. 1

68634025958. 2

68634025959. 3
68634025960. 4

Question Number : 90 Question Id : 6863406561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dgeh-1 DI T U3 DI SRY H 3jd dP HHaS By

A. U YT & YT STel=H BT LRG0

B. YRR &1 3(4-9Y 318 I [dR

C. Sicd DIRADIH BT &1 9UT Sd8T AR TASH F1 AR g
D. PRICHA Ui qUT YR a5 &1 &1

=i fau v f[d@redl § O 98l 3Tk &1 9494 HIau:

1l A—-B—-C—D

| ]

B—=C—=D—A
3J) C-A—-D—B
4 D—-C—A—B

Options :

68634025957. 1
68634025958. 2
68634025959. 3
68634025960. 4



Question Number : 91 Question Id : 6863406562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In TCA cycle. suceinyl CoA synthetase is involved i the conversion of:

1. o - ketoglutaric acid to succinyl CoA

| ]

. Succinic acid to fumaric acid
3. Succinyl CoA to suceinic acid
4. Succinic acid to © - ketoglutaric acid

Options :

68634025961. 1
68634025962. 2
68634025963. 3
68634025964. 4

Question Number : 91 Question Id : 6863406562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& 4l T g § Hieg=rgd $1-u ey, @1 e FafafEd ¥ 3 feve! fead saa g2
1. o - DICTCRS 3K DI FGTAd HILTH
2. Ui 3 &1 wHRS s
3. QiGE0d $I-U DI Fieg-e e o
4. GiFG-eh 378 Dl o< - DICHYCND T H

Options :

68634025961. 1
68634025962. 2
68634025963. 3
68634025964. 4

Question Number : 92 Question Id : 6863406563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following statements are related to sensory tissues of animals.

A Proprioceptors are commonly called 'stretch receptors' that respond to mechanically-induced changes.

B. Certan flagellated protozoa like Euglena that contains chlorophyll possess a mass of bright red
protoreceptor granules called stigma.

C. Neuromasts' are the primary photoreceptors in sharks. some fishes and aquatic amphibians.

D. Meissner's corpuscles and Paciman corpuscles primarily help to detect chemical stimulus in animals.

E. Most reptiles possess Jacobson's (Vomeronasal) organs for olfactory reception.

Choose the set of correct statements from the options given below:
1. A. B and E only
2. B, C and D only
3.C.Dand E only

4. A. D and E only

Options :

68634025965. 1
68634025966. 2
68634025967. 3
68634025968. 4

Question Number : 92 Question Id : 6863406563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A. B and E only

b2

.B. C and D only
3.C.Dand E only
4. A.D and E only
Options :

68634025965. 1
68634025966. 2



68634025967. 3
68634025968. 4

Question Number : 93 Question Id : 6863406564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Autoclaving 1s used as a sterilisation technique. The conditions used for autoclaving are:

1. 99° C and 20 PSi

b2

. 105° C and 10 PSi
3.121°Cand 15 PS1
4, 100° C and 15 PSi

Options :

68634025969. 1

68634025970. 2

68634025971. 3
68634025972. 4

Question Number : 93 Question Id : 6863406564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. 105° C 3R 10 PSi
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121° C i 15 PSi
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4.100° C 3 15 PSi

Options :

68634025969. 1
68634025970. 2
68634025971. 3
68634025972. 4

Question Number : 94 Question Id : 6863406565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The gradient used in ultracentrifugation for fractionation of DNA is:

1. CsCl

| B

. NaCl
3. Glucose

4, fructose

Options :

68634025973. 1
68634025974. 2
68634025975. 3
68634025976. 4

Question Number : 94 Question Id : 6863406565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025973. 1
68634025974. 2
68634025975. 3
68634025976. 4

Question Number : 95 Question Id : 6863406566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In normal cells, progress through the cell cycle 1s tightly regulated and each step must be completed before the
next step can begin. There are at least three distinct points in the cell cyele at which the cell monitors external
signals and internal equilibrium before proceeding to the next stage. These are the G1/S, the G2/M and M
checkpoints.

In addition to regulating the cell cycle at the checkpoints, the cell controls progress through the cell eycle by
means of two classes of proteins: cyclins and cyclin-dependent kinases (CKDs).

Based on the above context. answer the following questions:



Event that occurs at G1/S checkpoint is:
1. Cell monitors DNA synthesis and damage
2. Cell monitors spindle formation
3. Attachment to kinetochores
4. Cell monitors size and DNA integrity
Options :
68634025977. 1
68634025978. 2

68634025979. 3
68634025980. 4

Question Number : 95 Question Id : 6863406566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025977. 1
68634025978. 2
68634025979. 3
68634025980. 4

Question Number : 96 Question Id : 6863406567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In normal cells. progress through the cell cycle s tightly regulated and each step must be completed before the
next step can begin. There are at least three distinct points in the cell cycle at which the cell monitors external
signals and internal equilibrium before proceeding to the next stage. These are the G1/S. the G2/M and M
checkpoints.

In addition to regulating the cell cycle at the checkpoints, the cell controls progress through the cell cycle by
means of two classes of proteins: cyclins and cyclin-dependent kinases (CKDs).

Based on the above context. answer the following questions:

Given below are two statements:

Statement I: Continuously dividing cells do not exit the cell cycle but they proceed through G1. S, G2 and M
phase.

Statement IT: Cancer cells are unable to enter GO phase.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I is incorrect

4. Statement I is incorrect but Statement II 1s correct

Options :

68634025981. 1
68634025982. 2
68634025983. 3
68634025984. 4

Question Number : 96 Question Id : 6863406567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025981. 1
68634025982. 2
68634025983. 3
68634025984. 4

Question Number : 97 Question Id : 6863406568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In normal cells, progress through the cell cycle is tightly regulated and each step must be completed before the
next step can begin. There are at least three distinct points in the cell cycle at which the cell monitors external
signals and internal equilibrium before proceeding to the next stage. These are the G1/S. the G2/M and M
checkpoints.

In addition to regulating the cell cycle at the checkpoints, the cell controls progress through the cell eycle by
means of two classes of proteins: cyclins and cyclin-dependent kinases (CKDs).

Based on the above context. answer the following questions:

Choose the correct statement:

1. Cyclin D2 accumulates during early G1 phase

[

. Cyclin E appears during S phase

L]

. Cyclin B peaks during M phase

e

. Cyclin A appears during late G1 phase



Options :

68634025985. 1
68634025986. 2
68634025987. 3
68634025988. 4

Question Number : 97 Question Id : 6863406568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025985. 1
68634025986. 2
68634025987. 3
68634025988. 4

Question Number : 98 Question Id : 6863406569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hill ranges of Western Ghats of India are rich in biodiversity with tropical evergreen and rain forests. The
flora and fauna are unique to the place. Many animal species like Nilgiri Tahr and Lion-tailed macaque are
endemic to this region. Many bright - coloured frogs are discovered from this region. We must preserve our
biodiversity from pollution. human greed, habitat destruction for our future generations.

Based on the above context. answer the following questions :



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Western Ghats of India 1s one of the biodiversity hotspots.

Reason R: The criteria for categorisation as a biodiversity hotspot is high number of endemic species (at least
1500 species of vascular plants). the region must have lost 30% of its natural vegetation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

-2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634025989. 1
68634025990. 2
68634025991. 3
68634025992. 4

Question Number : 98 Question Id : 6863406569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R & fEHl Hre Sel Swisfeddly weraeR R avl o § Sid fafduar F v €1 wel o1l wge
IR aTeafa sifgcdia €1 agd I wifty Sfaar Sy e arex 3iR @ ¢w Held (Y o0 aFk) 549 &
%@ﬂﬁﬁ%laga%qumm@ﬂ%ﬁwmw@@mﬂ%m@m@ AMa & AIed 9, WP ias a9 7y
BT 3ol o arelt difgal & fora g9 o oid fafawdr & ulRear siawg 31§

SR SHPRI ¥ HgfaRad vyl 3w e




-9 &1 Hu AU T &, Ud SIS U A(Assertion A) & U H ARG § ol GIRT 39D BRI R(Reason
R/&ITH

MFUDBYT A: YRd & UfdH e od fafdydr & aa wa g |

PRI R: 9Iq [afayd aod @ Ya7i & o1 AFds 6. 991 W1 H wife oiifadl &1 Jd 61 $H 3 &
150 Hag-1 el B Sl SR &7 BT 30% WD a-1ld =y G gl g5 ol |

SR HUF & 3Tl 4, 1< 41 T fased! & 9 999 3Ugad SR &1 99+ &1l
1. A SRR 6 € AR R AP IE AR &

A SRR TS € IR R, A T I e T &

3. ATS T AFAIR TG TS

4, ATEI TR S APIR TR ©

Options :

68634025989. 1
68634025990. 2
68634025991. 3
68634025992. 4
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Question Number : 99 Question Id : 6863406570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The hill ranges of Western Ghats of India are rich in biodiversity with tropical evergreen and rain forests. The
tlora and fauna are unique to the place. Many animal species like Nilgiri Tahr and Lion-tailed macaque are
endemic to this region. Many bright - coloured frogs are discovered from this region. We must preserve our

biodiversity from pollution. human greed, habitat destruction for our future generations.

Based on the above context. answer the following questions :

Nilgir: Tahr 1s an:

1. Endangered species

2

. Critically endangered species
3. Vulnerable species

4, Least concern

Options :

68634025993. 1
68634025994, 2
68634025995. 3
68634025996. 4



Question Number : 99 Question Id : 6863406570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025993. 1
68634025994. 2
68634025995. 3
68634025996. 4

Question Number : 100 Question Id : 6863406571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The hill ranges of Western Ghats of India are rich in biodiversity with tropical evergreen and rain forests. The
flora and fauna are unique to the place. Many animal species like Nilgiri Tahr and Lion-tailed macaque are
endemic to this region. Many bright - coloured frogs are discovered from this region. We must preserve our
biodiversity from pollution. human greed, habitat destruction for our future generations.

Based on the above context. answer the following questions :

Some frogs such as poison dart frog exhibit bright coloration which serves as a warning signal for its
predators. It 1s known as:

1. Batesian mimicry
2. Aposematism

3. Cryptic coloration
4. Camouflage

Options :



68634025997. 1
68634025998. 2
68634025999. 3
68634026000. 4

Question Number : 100 Question Id : 6863406571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634025997. 1
68634025998. 2

68634025999. 3
68634026000. 4



